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MgS0:
H,0 9.5 <
NaCl 2.72 -
MgCl, 038 caco
MgSO, 0.17 Sl
CaSO, 0.13
K,SOs 0.09
CaCO; 0.01
35 125ml
V=Vo[1+y(T-4)] (V: Vo 4 Y
a0
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1.
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1.01 g/em’
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B =V D \Y4 D =M (V=hA V
h A
0.015Imm 3.5cm
CO, Air CO, Air
() 30.3 29.8 34.5 32.8
() 133 142 279 263
3.5% (g/cm’) 1.01 1.01 1.01 1.01
(cm’) 700 700 700 700
(cm®) 4000 4000 1500 1500
(cm?) 459 459 200 200
(cm) 0.0151 0.0151 35 3.5
0
3.5%
1.38*%10*cm®
2% 1.38*%10%*cm’*2%=2.76*10%cm’




69

91
2.51x10%cm’/3.62*%10"cm?=6.94*10°cm=69.4m 65
76.3 / = 2.76*%10%cm>/3.62*10'%cm?
=7.63*10°cm=76.3m
30% 25172
km? 35961 km**70%=25172 km>
(cm) (em®) () (cm®) (cm)
6.367x10° 5.094x10" 71 0.71%x5.094x10'® 3.8x10°
3 3
(g/cm’) () (cm’) (cm) (cm3)
1.025 3.5 2.76x10% 8.45x10* 1.355x10*
(cm”) () () () (cm’)
1.38x10* 97.4 2 80 2.51x10%
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V=V [1+y(T-4)] (V: Vo 4 Y
)
3.5 0.00013(1/ )
145.477 ml
4 145.5ml

4 10— V=145.477+145.47740.00013°1
ik V.= 145477

146.09 —
+=0.00013

146,08

< 144.07—

3 146.06;
2 144.05—
T 14404 —

144,03

44,02 —
144.01 —

146.00—

W=145477+0,18%%T

B ig
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T(C)
3.5
0.00013 V=V[1+y(T-4)]
1 0.00013 0.000207
1.38*10**cm’
4
49.56cm
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4
3 2
cm cm
( ) ( ) (cm3) ( ) (Cm)
(cm)
4 1.38E+24 3.62E+18
5 1.38E+24 1.79E+20 3.62E+18 49.56 49.56
6 1.38E+24 3.59E+20 3.62E+18 99.12 49.56
7 1.38E+24 5.38E+20 3.62E+18 148.67 49.56
8 1.38E+24 7.18E+20 3.62E+18 198.23 49.56
9 1.38E+24 &8.97E+20 3.62E+18 247.79 49.56
10 1.38E+24 1.08E+21 3.62E+18 297.35 49.56
11 1.38E+24 1.26E+21 3.62E+18 346.91 49.56
12 1.38E+24 1.44E+21 3.62E+18 396.46 49.56
13 1.38E+24 1.61E+21 3.62E+18 446.02 49.56
14 1.38E+24 1.79E+21 3.62E+18 495.58 49.56
50
100%
( PPM )
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218 p34-p61 2001

94 1-3
() 93 7
- 2006.3
http://mail.ad.ntust.edu.tw/course/viewtopic.php?t=40&start=0
2006.3
http://ccst.ckgsh.tn.edu.tw/~teach/nature/physics/%B2%C4%A2%B9%A5U%B2%C4%
A4K%B3%B9.ppt

2006.3

http://www.hko.gov.hk/wxinfo/climat/greenhs/c grnhse.htm
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